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COMPUTER SCIENCE
PAPER - I (D-9)

Time : 3 Hours | _gd Bl [ Max. Marks : 50

)

N

Instructions : (/) /

(2) Figure IC
(3) Use of a

(4) Draw a negl diagram wherever ngcessar

e low Bl

[ 4

L/

1. (A). Select correct opén from the following and flc sentence :
(a) The time 1088 in turning the attcntion of pE@JES§or from one process
to another Ml called as N
(i) CircuiflSwitching
(i) Band Width
(111) Conte vy ItChiﬁg
(iv) Packet Switc /
v mM“"SOI;UTION
Enmplete solution for your exam needs
Arrays
(111) Fields
(1v) Maps
- (c) If all visibility labels are missing then by default members of class
are ' , ' - 1
(1) Public '

(11) Protected
(11) Private
(iv) Void
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(B

2. (A)
(B)

. A

. va234)

() Discuss

Answer any two O

d tag is used to put a line break in HTML Code.

i) <HR>
(i) <BR>
(iii) <P>
(iv) <LI>

Answer any two of the followlng

(a) What 1s Friend Function ? Write any four characteristics of Fnend
Function.

(b) Explain in short the (stic of a static data member

in a class.

(a) Explam with flc ol s@lucture :
(1) Sequence L@glc A

(1) Selectio

(iii) Tteration flogic
(b) Explain Bubbl@lSort Algorithm with suitab

(c) What function
System ? Stat

cwample.

ré performed by Memory

apy four Memory Managem@@nt System.

Answer any one 0O

(a) What 1s Oper
Function. Expldm the difierence

yntax of an Operator
etween Operator Function as the

PR - FS “"IJIJ ON..
(b) With %nm B E-::: ) a al ms

_ ution f::r our exam needs
(1) Fxtemal riority

(11) Purchased Priority
(111) Internal Priority
(iv) Time Shice
Answer any two of the following :

- (a) Write difference between Linear Search and Binary Search.

(b) Explain different types of inheritance with suitable diagram.

(¢) How linked list are represented in Memory ?

on Philosophies.

agement of Operating '

W W W
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(B) Answer any one of the follovs;ring :

‘(a8 Define the following terms with reference to Trée :

(i) Root

(1) -Leaf- .
(iiij Sibling
(1v) - Depth

(b) What i1s Computer Vig
virus can infect g

4. (A) Answer any §
(a) With syntax drag

(b) Explain the conde# unction overioae

g
(c) Explain any threefleatures of Windows-MiT

(B) Answer any one offihe following:

steps involved in the alloc
memory managemcnt |

-(a) - State the vario
of fixed partit

- (b) Explain the use
Operators 1n

Soope resolution Operator
Wlth _examples. B

. -..'"".

5 _- .Solve any two of the fo

(@) Write a pr evboard and
S CENANESOLUTE dw

(b) Write a programComg@iete oo lfitid rﬂcfdfmlr@ﬁa?tmm&dﬁumber

(c) Write a code in HTML for following table :

Computer Science

v234 3

je different method by which
VBl WebPage. 3
“example. 3
jerating System. -3

f partition in case

Memory Management

lPaper I | Paper II m
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Solve any two :

(a) hnphment class GCD whlch have member functlon (a/ c) whlch calculate |
~ greatest common divisor of two number entered durmg program execution.
'Pnnt() will Print GCD of two number. _ RS

-~ (b)  Write a C++ program t() dlsplay a series of 15 term of the Fibonacci Series. 5

(c) Write the exact output of the followmg HTML Code w1th font specification
| in backet. _ - _ .5.

<html> . ,
. <title> Introducti'oh </i

- <body>
<hl> <b> CC
<hr> _

- <u> Paper-1 </u>

- e
<uw> Paper-1I </u

o </bo_dy:>
</html/>

EXAM SOLUTION

Eumplete solution for your exam neecls
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COMPUTER SCIENCE
PAPER - II (D-9)

= -

Time : 3 Hours Max. Marks : 50

\ - ol
Instructions : (/) All qu#
(2) Figures to K.
(3) Draw neat zagrams wherever- necessdry.
(4) Use of any @pe of calculator_is ROl alldled.
(5) Commeng@dre must in Assembly LangRa3® ['rograms.
1s (A) Select correct opti@hs and (rewrite the followi
(a) The ﬂag reofiter of 8085 micCroprocessSor @ontains flags. 1

(1) 8 .
(1)) 3
() 7

o ~EXAM- SOLUII QN

(i) AriftRfeRlete solution for your exam needs

(ii) Logical
(111) Branch
(1v) Data lranster

(¢) The maximum physical memory can be addressed by 80286
MiCroprocessor 1s . 1

i) 640 KB
Gi) 1 MB
(iii) 16 MB
(iv) 4 KB
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d cable uses light signals to transmit- data. ' R
(i) Fiber Optic ' "
(i) Coaxial
(iii) UTP
(iv) STP
- (B) Sol*s)e ahy fwo of the following :

(a) Explain functions of ik
(i) Multiplexg
(i1)) RSY
(i11) CLK (O
(b) ‘Write the addres

s of 8085 Microprocessor : 3
. AD7)

i CS

)

[©. mode and length

{ the following B

instructions : o R
1) CPI 10
(i) MOV M
(iii) SHLD C{lo'F
() Compare any tiilf¢c €haracteristics of Twisted JBir Cable with Coaxial
| - Cable. '
2. (A) Solve any two of ;{{;ﬁ.
(a) Deﬁne the following te W1th itable diagrams : -3
(ll) Machgenrfpyéte solution for your exam needs
(111) Instruction Cycle '
(b) ‘What is Wireless Media ? Write any two advantages of Wireless _
| Media. o | | 3
(c) The accumulator in 8085 microprocessdr contains data 71H and
register £ contains data 39H. What will be the contents of an
* accumulator in Hexadecimal aﬁer cxccution of the following instructions
independently ? - - . -3
(i) ADD E ' | '
(i) ORA E

(iii) RRC

V-268] - 2 - o [Contd.



(B) Solve ahy one of the following :

(a) What is Microcontroller ? State any three advanced featureb of 8052
mlcrocontmller over 8051 microcontroller. _ | 4

(b) What 1s Vectored Interrupt 7 State all hardware interrupts with their
vectored addresses, write the priorities of hardware interrupts. 4

3. (A) S()lve any two of the following :

(a) Write anyir three difference points between Memory Mapped /O and
/O Mapped VO Addressinggs &

(b) Explain the followigg
example of ¢

1 P

(11) INX rp

- (1)) DAD 1p
(c) Wrnite a short notégon Modem.

R

RS Microprocessor with one

[ollowing :

(B) Solve any one of t
' (aj Write any two lers : . 4

(1) 8048

(i1) 8052

(111) 8031

(iv) 8050 N : _ |

(b) r What is Ehternet ? Dlsé sﬁb diﬁ‘é; fit types of Ethernet. 4 -

4. (A) Solve any E)XAM’Vsq ky.rgg Ncmpmcessor : '. .

atures of following Miéro

(a) Compare apy, nQHFEct gqu'ﬁ SR for your exam

(b) Write any three instructions to make Accumulator Zero.
(c) What is Microprocessor ? List its functions. 3
(B) Solve any one of the following : .
- (a) Write a function of following functional uﬁits of 8085 Micrdprocess‘or . 4

(i) Instruction Decoder
(11) General Purpose Register
(i) Data / Address Buffer
(1v) Status Register - '

(b) What is Transmission Media ? Exp]am in short six charactcrlstlcs of
Transmission Med1a - _ _— _ _ 4
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Solve any two of the following :

(a)

(b)

Solve any two ol ™

(a)

(b)

()

1s stored in memo
that searches for t

Write a Assembly Language Program to copy a block of data havmg starting
address 4500 H to new location starting from 4600 H. The length of block
is stored at memory location 44FF H. '

‘Write an Assembly Language Program to add two 8-bits BCD numbers

stored at memory location 4500 H and 4501 H. Store the two byte BCD
result from memory location 4502 H onwards. '

gram to fill the memory locations
s 09 H to ODH respectively.

Write an Assembly Language
4500H to 4504 with the Ligt

the nibbles of 8-bit
result at memory

Write an Assembly angg
number stored M M&Ae ocation 4500H. Slrc t
location 4501H. . e

L /

The length of block
Language Program
oiven block. Store
mber 1s not found then

A block of data is € 1n memory location |4
Oﬁﬁtlon 44FFH . Wn’le anj#
first occurren o
utrence in ILL. palr If

i 5000 H.

the address of this
HIL. pair should c

bO1H and onwards. The
DOH. Write an Assembly
Bata. Store the two byte

A block of data is
length of the block
Language Program
result from memory location 4600 H.

EXAM SOLUTION

Complefe solution for your exam needs
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